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PART - 111
sexflefl @yfleQweo / COMPUTER SCIENCE
(s WwhHoId pidle cuifl / Tamil & English Version)
sTe eTa : 3.00 werfl Gprw ] [ Quorgs wHlCludmaer : _7.0
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

sdeenrsen : (1)  o@ardg clamssEno sflwrs LHeTE L ETATST GTaTLISEmEN e-:rﬂurrr'rg';g,@
Qarararayid. eiFsliudeld @apudmrider, SN SaTaranturaTilb
o Langwnss gflellésa).

2) Beod degy s@mUY @wulaa mﬁ.@@m- q@@mggb@.m,
=15 5CasTEHaushGn LwaTu(hES Couam(HD. UL MBISET cUaTUSDES
Quenéléd LweTuBHSSe L.

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

LGS -1 /PART -1
GOy = () N AR A LA eflen_wiall&aa|Ld, 15x1=13

(i) Garhssnu e I 11681 (&) L0 1T DT desallv Wsajd gohyeaLw
chleni_owsd CuinhQeOssé @M. Hren e laanyd Csrss
Cr(pgeuyLD.

Note : (i)  Answer all the questions.

(i)  Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. POST -en aSlfleun&&ib
(<) Post on Self Test
(&) Power on Self Test
Expand POST :

(@) Post on Self Test (b) Power on Software Test
(¢) Power on Self Test (d) Power on Self Text

(<,) Power on Software Test
() Power on Self Text

N

@0 SCrenul ereiiLg) aTHSMmET UL (HEmaTd QsmerLg) ?

(<=1) 1000 (=) 8 (@) 4 (FF) 1024
How many bytes does 1 kilobyte contain ?
(@) 1000 b) 8 () 4 (d) 1024
3.  Qeneumeuaneupmier ergl maTOFLeGeT LTS e ?
() serflls grewd Qewesd (=) sLGUur’ s
(®) Gs& Heovaeusid (FF) wdCGeul®
Which of the following is not the part of a microprocessor unit ?
(@) ALU (b) Control unit
(c) Cache memory (d) register
4. Nersev ety euens CsmiL Gerearenoenw Lwetu(hss1$ng ?
(<) extz (<=,) NTFS (@) FAT () NFTS
The file management system used by Linux is :
(@) extz (b) NTFS () FAT (d) NFTS
5. ellanmGLren vweruriige G&riiyser QarLrfleowrs aps Csriiyemnudd
Callssuu@mm ?
(<1) My Document (<2,) My Pictures
(&) Document and Settings (Fr) My Computer
Which is the default folder for many Windows applications to save your file ?
(a) My Document (b) My Pictures
(c)  Document and Settings (d) My Computer
6. Sp&argnib WLESG TESMET (e QIkIGD ?
i:=10
whilei#5
ii=1+41
(1) 4 ()5 (&) 6 (") 0
How many times the loop is iterated ?
ir=0
while i # 5
ir=1i+1
(d) 4 (b) 5 () 6 (d o
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Qeraumd Gewup@hsailer CHen grey mirliy Qeawn@ erg ?

(=1) >> (<) << (@) < (rF) A
Which of the following operator is extraction operator in C++ ?
(@), . 2> (b): - (© <> (d 7

Weraumd Qeup@haaia g srelamiseailear <erameus smens ?

(<=1) sizeof() (<2p) int() (&) long() (r) - double()
Which of the following operator gives the size of the data type ?
(a) sizeof() (b) int() () long() (d) double()

YereumeuareupmieT org CQeuallGuped Gerdlliy wLdE ?

(=) for (<=1,) while (®) do...while (rF) if...else
Which of the following is the exit control loop ?
(a) for (b) while (c) do...while (d) if..else

20 GHlupma TWss LHNID CTET UME T DG & me T RTINS
sflumiés 2 goyb QFwhseay et ?

(<) isalpha() (<24,) isdigit() (@) isalnum() (rF) islower()
Which function is used to check whether a character is alphanumeric or not ?
(a) isalpha() (b) isdigit() (c) isalnum() (d) islower()

int age[ ]={6, 90, 20, 18, 2}; Q)5 el rssmen 2 mlisar o crarar

(=21) 2 (<=2)5 (&) 6 (rF) 4

int age[ ]={6, 90, 20, 18, 2}; How many elements are there in this array ?

(@ 2 (b) 5 () 6 (d) 4

TR0 POD TWHSD ULWD LWL (6 S 50" e e i DL
e 585 B paw HepGauppuy
(<21) srey Wensenio (<=4) LOMILIWIGTITE &LD

() wrHpo

() Qan@ssea

“Write : e | iple time’
once and wuse it multiple time” can be achieved by :

(a) redundancy

(b)  reusability
(¢) modification

(d) composition
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13.

14.

aaNUQuIrd aimeinddaaed anflwins o_dmenpuiab, deuaflGuipa)n, sbléamersamen

savsranflasayd, sU(HUUBHGEHa|D aend Fieug) :

() @&lsa (<2,) péablyed

(@) vwiaurd (1) Gumrben

A computer network security that monitors and controls incoming and outgoing traffic is :
(@) Cookies (b)y  Virus

{©)  Firewall (d)y  Worms

deareumesaeup e ordl Qewponm s @pdE CoaumgulL Qur@ear 2 araramgs
Gh&Epg 7

(=) Qawpsam ueiidl@liy (<21) 2mitiy uenflbl@Guy

(&) QewpeN ualBEly () Qewpur® wemflblELliy

Which of the following refers to a function having more than one distinct meaning ?
(@) Function overloading (b)  Member overloading

{c) Operator overloading (d) Operations overloading

wryfliod dswagpepuid ydHu @Qers@w adalmbs e (HeursstuBSng ?
(=) Digliven. Qed @ (P (<2)) <A(HEULDTESLD

(&) smellestiulL. Qe (p (FF) Qawmenm

Inheritance is a process of creating new class from :

(a) Base class (b)  abstract

(c) derived class (d)  Function

u@ES - 11/ PART - 11

@PluY : aemesCuenib gymi dilamés @rsg el wallsaab. seundld ellerr orar

24 -6 sL_Lmuwng ol wellEsab.

Note : Answer any six questions. Question No. 24 is compulsory.

16.

37

18.

sarfla aryemd Csweasgdlan (ALU) dewdur® wrg ?
What is the function of an ALU ?

; = ) [ oy g .
Clgm i ehiflace er(pgis.

Write the associative laws.

2 W GUEOTWIEHID LIEDEYTL & Gleot_pstd (HDMI) eresimned ereven ?
What is HDMI ?
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19. uueflurEsD eTemre 6remes ?
What is known as Mullitasking, ?

20.  setw() allgeUeNOLIL] en&WNEHD ClFwpanblen Liwen eresmer ?
What is the use of setw() format manipulator ?

21, strlen() Qswpaacop LDHN 6T,

Write about strlen() function.

22. @@uflores oi@ilow omels@n Qgrfwe wrg ?

What is the syntax to declare two-dimensional array ?

23. uell@ss wrwrg Qewup@dlsmarts UL igwel(Hs.

List the operators that cannot be overloaded.

24. 2,4,6,8 ... 20 eraop Qi auflengens 2i&8lHougpsTen while L EDS 6T(LDEIS.
Write a while loop that displays numbers 2, 4, 6, 8 .......... 20.

L@ - 111/ PART - III

GOy : gsneugl ym| AamssEnsd el wailEsea)o. Sleubded el erawm 33 -&(&

SL_L_muwns edlenLwel&&seyLb. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
25. &l (05 : (31) —22,9 + 15 (<=4) 20,5 + 254
Add : (@) —22; + 15y (b) 20,5 + 25

26. 15 wrigen CHHDBIGEET CT(LPSIS.
Write the De Morgan’s Laws.

27. greflan arenalls Aupgg Hiem@suedlanw s ILDSSIS.
Classify the microprocessor based on the size of the data.

28. genandy (efla@mCGLmeav) fenyuden sapsmerts LHH GOLIY euenys.
Write a note on the elements of a windows.

29. main() Qewphenpdlen i) wrg ?
Why is main() function special ?

[ Si®iiys / Turn over
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30. Switch spfledt SLL_enerd Qgmieny Gr(pd DUBET LIWLIGTSENET UL g wied (Hs.
Write the syntax and purpose of switch statement.

31 C++ Qumflufiéd 2 eer pow() Qewmeam LbB Hm GHLY cuers.

Write short note on pow() function in C++.

32. @@ sLOmelen e miLsamer Greéueumn @S (Wig b ? a@gﬁ@é;é;rrL@ &(H5.

How to access members of a structure ? Give an example.

33. Qar@ssiiul L erarenien QumSsL eumiiuT_enL @qééﬂ@ﬁ C++ 'lﬂlrd) QRETEM
CT(LDEIE.

Write a C++ program to print multiplication table of a given number.

L@&3| - IV / PART - IV
GSPILY : Siemendg NamésEnsEh eden welsseyib. 5x5=25
Note : Answer all the questions.

34. (=) semlLGurdluder LOGeum semaweapamar ellarsEs.

360605

(=4) () &L (& : 1101010, + 101101,
(i) s 0&s : 1101011, — 111010,

(a) Discuss the various generations of Computers.

OR
() () Add:1101010, + 101101,

(ii) Subtract: 1101011, — 111010,

35. (=) ROM -éim cuenggenerls LD eNeTH&EONG 6T(LHSIs.

AT
() 20 Qués YopowssTa LLET QL Pssas 2 Haurs GwGurg

sauaigdleor Qamerer Couamgws WP&HW SHSHESEaT UL ig wedl (s,
(@) Explain the types of ROM.

OR

List out the points to be noted while creating a user interface for

(b)

an operating system.
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36. (=) eflanGrred Quiss el Loaiemswirar UfliLsamer eflouflssab
S|V
(=) Siguiuen. aumfeaemen oigen Gareneu wHOID GO IquigyL 6 6ileTHEs.
(@) Explain the versions of Windows Operating, System.
OR

(b) Explain the fundamental gates with expression and truth table.

2
~1
.

(=) mewey Gerdly wLEE aaprd aaar ? gGaaubd @O BoYe Gargiuy
LLGDEs QUImSSLTE THSHGFTHLT 6ilemsEs.
S|V
() @ W eTexrenent CUDHD ADS genadiprs WrHOD Celub By o (pgs.
(a) What is an entry control loop ? Explain any one of the entry controlled loop with

suitable example.
OR

(b) Write a program to accept any integer number and reverse it.

381 (=) Qunayer Cprés flronéasden paowsdr wraa ?
ALV
(c23,) QEwp@ED LefliflEudnsarer alfapepsaar wrmal ?
(a) Whatare the advantages of OOPs ?
OR

28 ator overloading ?
What are the rules for operator g

(b)

~00o0-
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